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INSTRUCTIONS 
•   Write your name, in the boxes above. Please write clearly and in capital letters.
•   Use black ink. HB pencil may be used for graphs and diagrams only.
•   Answer all the questions, unless your teacher tells you otherwise.
•   Read each question carefully. Make sure you know what you have to do before starting your answer.
•   Where space is provided below the question, please write your answer there.
•   You may use additional paper, or a specific Answer sheet if one is provided, but you must clearly show the question number(s). 
INFORMATION 
•   The number of marks is given in brackets [ ] at the end of each question or part question.
•   The total number of marks for this paper is 32. 


 
	 
	
	 
	
	

	1.
	Some of the customers of a retail organisation have a visual impairment.

Identify the information style of the mailshot which could be used for these customers.
[1]
 







	
 
	
	 
	
	

	2.
	This question relates to the case study on PH Your Flowers (see Insert for Unit 2, January 2019). 

Customers input their payment details.

Identify the information classification in which these payment details would be included.
[1]
 







	
 
	
	 
	
	

	3.
	A retail organisation needs to send a targeted mailshot to customers about a new range of children’s toys.

Describe how the text style used in the mailshot should be considered.
 

 

 

[2]
 







	
 
	
	 
	
	

	4.
	This question relates to the case study on PH Your Flowers (see Insert for Unit 2, January 2019). 

The delivery address postcode is checked by an external website.

Explain why the postcode is checked during the ordering process.
 
 
 
 
 
[3]
 







	
 
	
	 
	
	

	5.
	This question relates to the case study on PH Your Flowers (see Insert for Unit 2, January 2019). 

Photographs of the flowers are shown on the website.
i. Identify the information style in which the photographs would be included.
[1]
ii. Explain why this information style has been used.
 
 
 
 
 
[3]
 







	
 
	
	 
	
	

	6(a).
	A retail organisation uses data and information.
i. Explain what is meant by the public information classification type.
 

 

 

 

 

[3]
ii. Identify two stakeholders of this type of information.
 
	1
	 



 
	2
	 



 
	[2]















	
	 
	
	

	  (b).
	Comparability is one characteristic of information.

Identify two other characteristics of information and explain why each is important.
 
	1
	 



 
	Explanation
	 



 

 

 

 
	2
	 



 
	Explanation
	 



 

 

 

 
	[6]



 







		
	 
	
	

	7.
	A dental practice is creating a new contact management system to record details of its patients, appointments and treatments.

The dental practice is updating its website.

* The updated website will include an interactive form which will enable new patients to register and current patients to book appointments.

Discuss how the integration between the interactive form and the contact management system will enable the system to be more efficient in the collecting, retrieving and storing of patient data and information.
	 [10]


 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 









END OF QUESTION PAPER


Mark scheme

The examiner comments shown in the “Guidance” column of the mark scheme are taken from the relevant Examiners’ Report. N.B. Examiners’ comments are not available for all questions.

 
	Question
	Answer/Indicative content
	Marks
	Guidance

	1
	
	
	Possible information styles for the mailshot include:
· Braille (1)
· Audio / speaking / voice advert (1)
· Any other valid suggestion
	1
	For one mark

Examiner’s Comments

The focus of this question was on a retail organisation using data and information.

Part (e) of the question required candidates to state an appropriate text style to be used for the mailshot for those customers with a visual impairment. Many candidates were able to gain the allocated mark; however, there were a large proportion of candidates who provided an incorrect response. Again, this demonstrates a knowledge gap on this area of the unit specification.

	
	
	
	Total
	1
	

	2
	
	
	· Private/sensitive/confidential (1).
	1
	For one mark.

Examiner’s Comments

Many candidates were able to provide an acceptable response. However, a significant number felt the payment details were personal rather than the correct sensitive or confidential.

	
	
	
	Total
	1
	

	3
	
	
	Possible ways in which the text style used in the mailshot should be considered include:
· The text style must be easy to read / appealing to customers (1)
· Have to fit in with company house style / may be defined in house style (1)
· Text style must be appropriate to the contents of the mailshot (1)
· Any other valid suggestion
	2
	Up to two marks for description.

Examiner’s Comments

The focus of this question was on a retail organisation using data and information.

Part (c) of the question focused on the text style of a mailshot to be sent to customers advertising a new range of children’s toys. Many candidates failed to read the questions correctly and provided response that implied the mail shot was targeted at children rather than the parents, the customers. Acceptable response could include that the text style should relate to the house style or that the text style should catch the eye / be appealing to the customers,

	
	
	
	Total
	2
	

	4
	
	
	Possible explanations as to why postcode is checked during the ordering process include:
· To autofill address (1) taken from postcode for delivery address (1).
· To calculate (1) accurate delivery costs (1).
· To schedule delivery route (1).
· To ensure flowers are delivered to the correct address (1).
· To check the postcode is valid (1) so errors can be identified (1) and rectified (1)
· Any other valid suggestion.
	3
	Up to three marks for valid explanation.

Mix and match approach across bullet points is possible.

Examiner’s Comments

This question focused on one of the steps taken during the online ordering process. Customers have to input the delivery address postcode which is then checked by a third party website. Many candidates seemed to understand this process and were able to provide acceptable answers. The postcode is checked to ensure that, for example, it is valid as user error on input could have occurred which can lead to the postcode not being found on the third party website. In this case, the customer is able to check the postcode they have input and correct any highlighted errors. The case study provides details about how the postcode can be used in that an address autofill facility is provided where the customer selects the correct delivery address for the options provided.

	
	
	
	Total
	3
	

	5
	
	i
	· Graphic / image / picture (1).
	1
	For one mark.

Examiner’s Comments

Part a(i) of the question required candidates to identify the information style in which photographs would be included. Many candidates were able to correctly identify this as being graphics although images was also an acceptable answer.

	
	
	ii
	Possible explanations of why this information style has been used include:
· To show the flowers that are available/so customers can see what they’ll be getting (1).
· Can be stored in a high resolution (1).
· Can be taken by a camera (1) and uploaded to the website (1).
· Stored as individual files (1) so can be edited/ deleted (1) when a new photograph needs to be uploaded (1)
· A graphic is more effective than text / e.g. to indicate the colour of the flowers (1).
· Makes the website more appealing / exciting (1) than just having text (1)
· Any other valid suggestion.
	3
	Up to three marks for valid explanation.

Mix and match approach across bullet points is possible.

Read whole answer and mark to candidates best advantage.

Examiner’s Comments

The second part of this question required candidates to explain why the graphical information style had been used. Many candidates were able to provide answers that referred to the fact that the images would provide a visual representation of the available flowers which customers could then use to make a choice before they purchased flowers or that graphics are more effective than a textual description of flowers.

Fewer candidates provided the more technical answers relating to the fact that the photographs would be in individual files so the website could be changed as the choice of flowers changed throughout the year.

	
	
	
	Total
	4
	

	6
	a
	i
	Possible responses include:
· Information which can be seen by anyone (1) and is in the public domain (1) does not include sensitive information (1)
· Example provided (1) e.g. shop address / Census records / Electoral Roll
· Any other valid suggestion
	3
	Up to three marks for explanation.


The answer given could include an example.

Examiner’s Comments

The focus of this question was on a retail organisation using data and information.

Part (ai) of the question required candidates to explain what is meant by the public classification of information. Whilst some candidates were able to provide a response, which attracted marks, there were many others who demonstrated a lack of knowledge. There were many examples of candidates explaining that public information included sensitive information, which could not be shared with anyone. It was this type of response that demonstrated a knowledge gap relating to the different information classification types.

	
	
	ii
	· Office of National Statistics / ONS (1)
· Credit Reference Agencies (allow examples e.g. Equifax) (1)
· N.H.S (1)
· The general public (1)
· Government (1)
· Security services (1)
· Any other valid suggestion
	2
	For two marks:

Examiner’s Comments

The focus of this question was on a retail organisation using data and information.

Part (aii) of the question required candidates to identify 2 stakeholders of the public information type. The majority of candidates were able to provide 2 acceptable response.

	
	b
	
	Possible information characteristics include:
· Validity (1st) the information must be appropriate / valid for the purpose for which it is being used / held (1) invalid information detracts from the purpose of the information (1)
· Bias (1st) information that is one–sided (1) it may be correct but ignores alternative views (1)
· Reliability (1st) information must not be wrong, out of date or inaccurate (1) reliable information has value / unreliable information is less valuable (1)
· Accuracy (1st) information must be accurate / correct / (1) or it is worthless (1)
· Age / up–to date (1st) information can change over time (1) information from the past may no longer be useful / relevant (1)
· Relevance (1st) if information isn’t relevant (1) then it is useless / worthless (1)
· Completeness (1st) all information must be present (1) if any is missing then the information cannot be used (1)
· Any other valid suggestion
	6
	In each of two cases:




1st Mark – Identification of appropriate characteristic of information.
2nd and 3rd Marks – Explanation of why characteristic is important.


The characteristic must be correct to enable marks for the description to be awarded

Do NOT award marks for comparability as this is given in the question.

Examiner’s Comments

Part (b) of the question required candidates to identify 2 characteristics of information and explain why each is important, apart from comparability, which was given in the question. If candidates failed to provide a correct characteristic, they were unable to access the marks allocated for the explanation.

Yet again, this question demonstrated a knowledge gap from some candidates. However, those candidates who were able to identify two appropriate characteristics were able to access most of the 6 marks allocated to this part of the question. Acceptable characteristics included validity, reliability, relevance and bias.

	
	
	
	Total
	11
	

	7
	
	
	CMS = contact management system

Indicative Content
· Validation routines can be set on the online form.
· The format of the data / information on the form will match that of the fields in the CMS.
· As completed form is submitted the details are automatically input onto the CMS.
· New patient data can be retrieved by searching on a date joining field.
· Patient numbers can be allocated to all patients.
· This can be used to book appointments with an auto-fill on the online form to complete patients details.
· These can be checked by a patient.
· An edit facility can be provided for updating details by current patients.
· Edits can be submitted and overwritten in the CMS.
· Separate sub forms for new & existing patient
· Any other valid suggestion.
	10
	Level 3 [7-10 marks]
The learner has explained how the integration between form and system will allow the system to be more efficient in the collecting, retrieving and storing of patient data and information.

Subject specific terminology and knowledge will be clearly used to support and inform the explanations.

There is a well-developed line of reasoning which is clear and logically structured. The information presented is relevant and substantiated.

Level 2 [4-6 marks]
The learner has described how the integration between form and system will allow the system to be more efficient in the collecting, retrieving and storing of patient data and information.

At the bottom of the mark band, the learner may describe generic aspects of integration between the form and system

There is a line of reasoning presented with some structure. The information presented is for the most part relevant and supported by some evidence.

Level 1 [1-3 marks]
The learner has identified generic points in relation to either the form or system.

Subject specific terminology may be limited or missing.

The information is basic and communicated in an unstructured way. The information is supported by limited evidence and the relationship to the evidence may not be clear.

0 marks = Nothing worthy of credit.




Examiner’s Comments

This question was marked using a banded response method. Candidates were given marks based on the level of detail included in their response, and the application of their response to the scenario.

The question also incorporated the quality of the response in terms of correct use of technical terms and the coherent use reasoning. This is denoted by using a ‘*’ next to the question number with candidates being informed of this in the rubric on the front of the examination paper.

Again, this question demonstrated knowledge gaps relating to how systems can be integrated. The interactive form could be used by two groups of patients – new and existing. To be given a mark in the middle mark band candidates needed to describe the integration between the two systems. A description that included some application to the new patients registering would have their details automatically saved in the contact management system or existing patients could input their patient number when making an appointment which would then be saved against their record would achieve a mark in the middle mark band.

To meet the requirements of the top mark band, candidates should have included some references to the collecting, retrieving and storing of patient data and information.

	
	
	
	Total
	10
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